v

DI

6 | 5 | 4 3 | 2 1
375.0Q mm [14,764 in]
Max label width (fits under handle edges) 3000 - [1,181 In] A_A
25.00 mm [0,984 in] 157.50 mm [6,201 in]_L157.50 mm [6,201 in]
| W A [ = _ " 5
_ — (IO ¢ MOTImmon — § - [
= 0 00 0 0 0 00 O 0y XD O Y, = s
2 = 0000 0 0 0 O 0 Edn v o o E 23
= - o WWMMMMWHMMMMWWW . S =2 b {
El 2 00 00 0 0 0 U g En o ot o ) E %
s| g 0 00 0 0 0 k0 O 0y 0 - S|
gl E 0000 0 0 0 O g Edn o o Ao 2 |2
R {“-MMMMMWQWWWWWW% | i "
= A NOTES. _ N
60.50 mim [2,382 i N\ © ama painted RAL 5008 fine texture biack.
436.00 mm [17,165 in] —@ 129.10 mm [5,083 in] Eganrtiiﬂeéizgz?szfgﬁgh?? mm aluminium with a
—_ Handles are made from an aluminium extrusion &
_ = also painted RAL 9005 fine texture black.
_ 241.30 mm [9,500 in] _ é All parts are fitted with M4 studs for earth use.
é\ ° ’ ° é g% PARTS LIST
0, S, S ITEM QTY PART NUMBER DESCRIPTION
g g - 1 1 M6201039 Rear Panel
o o 2 2 M6202339 Side Panel
~ ® ® s 3 2 M6203049 Vented Covers
2 482.60 mm [19,000 in] = 4 1 M6219030 Front Panel
_ 5 2 M6200309 Handles
= _ @ 6 12 M3x8 CSK Screw (B) Cover Screws
% - ° ° L @ 7 4 M4x16 CSK Screw (B)  |Front Panel Screws
< 8 6 M3x8 Pan Screw (B) Rear Panel Screws
E Rear Panel 9 2 M3x8 CSK Screw Front Panel Screws
S- T 428.35 mm’[16,864 in] - @ Eezli;ij 3 (DIets)C;:tti;inmet 3U x 19" x 265 mm Vented Iz;t/eo3/2012 1S;C:Ie
METCASE ENCLOSURES METI&€=NS www.metcase.com

© OKW Enclosures Ltd (Date as shown). This drawing con

15 Brunel Way, Segensworth East, Fareham,

Hampshire, UK. PO15 5TX

Part Number

Issue Sheet

. This drawing tains proprietary information of OKW Enclosures Ltd and is tendered subject to the following conditions. The information . M62 19349
be retained in confidence, not be reproduced or copied, and not be used or incorporated in any product, unless permission is obtained in writing from OKW Enclosures Ltd. Tel: +44 (0)1489 583858 Email: metcase@okw.co.uk 1 1 / 1

N




